






RRB NTPC Stage-2 Exam Pattern

Sections No. of Questions Total Marks Duration

Mathematics 35 35

90 minutes

General Intelligence and 
Reasoning

35 35

General Awareness 50 50

Total 120 120









Find the option which should replace (?)

A. 60
B. 62
C. 66
D. 64



Find the option which should replace (?)

A. 5
B. 4
C. 0
D. 3

3 8 10 2 ? 1

6 56 90 2 20 0



Which number will replace the question mark ?

(A) 125

(B) 115

(C) 136

(D) 95



Arrange the given words in the alphabetical order.

1. Rhetoric
2. Regret
3. Resignation
4. Record
5. Ratchet

(a) 2, 1, 5, 4, 3
(b) 5, 4, 2, 3, 1
(c) 5, 2, 1, 4, 3
(d) 2, 5, 1, 4, 3



Find the option which should replace (?)

CAB = 13
FEED = 41
JADE = ?

A. 35
B. 43
C. 41
D. 45



Find the option which should replace (?)

UNITED : 1/2  :: ORIGIN : ?

A. 2/5
B. 3/5
C. 1/2
D. 3/7



Find the odd one out(?)

A. 2047

B. 4702

C. 6041

D. 4306



Choose the box that is similar to the box formed from the 
given sheet of paper (X).

A.1 only
B.1 and 3 only
C.1, 3 and 4 only
D.1, 2, 3 and 4



Find number of Straight line in the given figure ?

(A) 7 

(B) 8 

(C) 11

(D) 10



Find the option which should replace (?)

A. 176
B. 115
C. 157
D. 131



A man is 24 years older than his son . In two years , his age 
will be twice the age of his son . What is the present age of 
his son ?
एकआदमी अपने बेटे से 24 साल बडा है। दो साल में उनकी उम्र उनके

बेटे से दोगुनी होगी। उनके पुत्र की वर्तमान आयुक्या है?

A. 20 years

B. 18 years

C. 14 years

D. 22 years



From the given alternative words, select the word which can be formed using the 
letters of the give word :
ददए गए वैकल्पिकशब्ोों से, उसशब्का चयनकरें दिसे शब् केअक्षरो ोंका उपयोग करके

बनाया िा सकर्ा है:

REPLENISHABLE

(1) LIME
(2) REACH
(3) SHINE
(4) PAPER



Find number of triangle in the given figure ?
दी गई आकृदर् में दत्रभुि की सोंख्या ज्ञार् कीदिए?

(A) 34 

(B) 20 

(C) 24

(D) 16


